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HSSC Advt 15/2019 Opthalmic Assistant Question Paper

.2 . Held on 16 July 2021
1. ga relaxed eye has more refractive power
Cthan the emmetropic eye is known as
CA) Ametropia (B) Myopia
) Hypermetropia (D§ Emmetropia

2. “hich of the following is not a provision of

the Haryana Industrial Policy, 2015 ?

(A) To create 10 lakh jobs and to attract
an investment of 1 lakh crore

{B) To open food processing industries

(C) To open industrial township in Ambala
and Panchkula

(D) To give easy loans for opening up
700 small scale production units

3. The junction of comea and sdera is known as
{A) Sclera (B} Comea
(C) Limbus (D) Retina

4. Ina row of 10 boys, when Rohit was shified
by two places towards the left, he became
seventh from the left end, what was his earfier
position from the right end of the row ?

(A) First (B) Second
(C) Fourth (D) Sixth
5 In . when the patient appreciates

a dark area in his field of vision.
(A) Absolute scotoma-

(B) Relative scotoma

(C) Positive scotoma

(D) Negative scotoma

6. Inwireless networking the standard is
(A) Bluetooth (B) wifi
(C) 801.1 (D) 802.11

7. hmmmmmhm *

the operating room,
(A) Savion

(B) Methylated spirit
(C) Formaldehyde gas.
(D) Hydrogen peroxide
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r the following statements | and I
1, people and geographic features

=nth largest country in the
s second in population
} enfirely in the southem

atement | is comect
statement |l is correct
=aments | and |l are comect
statements are correct

3. C, B's sister, has a son D and
F is the maternal uncle of D
atedto F 7

(B) Daughter

(D) Nephew

onzontal plane dividing the structure into
or and infenor parts

(B)- Midsagittal

(D) Coronal

Sagittal

Transverse

| told Anand, "Yesterday | defeated
brother of the daughter of my
ther”, Whom did Rahul defeat 7
(B} Father

(D} Nephew

Brother

12, ____ occurs in acute nephritis and
5 renal disease due to circulation of
toxins, which act on visual centres,

A) Uraemia

B) Meningitis

) Hysteria

D) Lebers congenital amaurosis

13. Consider the following statements about
National Anthem of India

The song Jana-gana-mana,
composed originally in Bangla by
Rabindranath Tagore.

It was first sung on December 27, 1911
at the Belgaum Session of the Indian
National Congress.

Only the statement | is correct

Only the statement Il Is correct

Both the statements | and |l are

(A)
(B)
(C)

correct
(D) None of the statements are cormect
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14. Instrument used for doing capsulotomy

during extracapsular lens extraction
(A) Von Graefe's Knife

(B) Keratome

(C) Paracentesis Needle .

(D) Capsulotome

Which of the following districts of Haryana
does not share its boundary with any State
or Union Territory ?
{A) Jind

(C) Charkhi Dadri

15.

(B) Jhajjar
(D) Narnaul

The is the opaque white of the
eye and is covered by the transparent
conjunctiva.
(A), Sclera

(Bl Comnea

(C) Ciliary body
(D) Retina

16.
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17. in which both meridia are myopic
but by differing amounts.

(A). Compound myopic astigmatism

(B) Simple myopic astigmatism

(C) Simple hypermetropic astigmatism

(D) Compound hypermetropic astigmatism

Which of the following river/s in the Deccan
generally flow/s in the east direction and fall
into the Bay of Bengal ?

{A) Krishna (B) Godavari
(C) Cauvery (D) All of the above

Which of the following is not the main

function of the Haryana Urban Development
Autharity (HUDA) 72

(A) To collect property taxes

(B) To promote and secure d
evelo
of urban areas e

(C) To acquire, develop and dispose of
land

To undertake construction projects
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Which city is the largest producer of
scientific instruments and called as the
Science City of Haryana ?

(A) Karmnal (B) Gurugram

(C) Hansi (D). Ambala

is a procedure in which a lenticule
of donor tissue is used to alter the surface
topography of the cornea.

(A} Epikeratophakia

(B) Laser-assisted in situ keratomileusis
(C) Photorefractive keratectomy

(D) Astigmatic keratotomy

1 used to cut the conjunctiva,
skin and sulures.

(A) Plane Straight Scissors

(B8) Plane Curved Scissors

{C) Comeal Scissors

(D). De-Wecker's Scissors

are used for sterilizing swabs,
dressing pads, tubings, plastic syringes.
(A) lonizing radiation
(B) Non-lonizing radiation
(C) Alcohol
(D). Spint

Ina certain code, ROAD is written as URDG, | -

How is SWAN written in that code 7
(A) VXDQ (B). VZDQ
(C) VZCP (D) UXDQ

Which one of the following districts dl:lﬂ
not produce cotton in Haryana ?
(A) Nuh

(B) Rohtak 4

L]
i

(C) Jhajjar
(D) Bhiwani

In , during cuntrn:ﬂun of :
agonist, equnl and simultaneous sinml
relax is sent to the antagonist.
(A) Sherrington's law

(B) Hering's law

{C). Primary deviation

(D) Secondary deviation °
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is a transparent, colourless,
inert gel which fills the posterior 4/5 of the
eyeball.
(A} Vitreous
(B) Lens
(C) Aqueous humour
(D) None of the above

Normal size of the pupil is
(A 2—4mm {(B) 4 =6 mm
(C) 4 =5 mm (D) 6=7 mm

Which of the following is true about Loor

Dance of Haryana ?

(A) Itis a famous dance form of the
Bangar

(B) The dance is performed outdoors by
men on moonlight nights

(C) The dance accompanies a
procession

(D) The dance is performed in pairs
within a circle

The has two primary functions
that includes to refract light and to transmit
light.

(A) Sclera

(B) Comnea

(C) Limbus

(D) None of the above

provides objective measurements
of the refractive state of the eye.

(A) Keratometers

(B) Focimeters

(C). Retinoscopy

(D) None of the above

Dadupur Nalvi Canal Imigation Project does
not irigate which of the following areas in

Haryana ?

(A) Kurukshetra (B) Ambala

(C) Panchkuia (D) Yamunanagar
A describes all the data conceming
One person or thing.
(A) Record (B) Field

(C) Table (D) Relation
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Atrain travels at an average of 50 miles

per hour for 2 ; hours and then travels
at a speed of 70 miles per hour for 1 4
hours, How far did the train travel in lﬁe

entire 4 hours 7
(B) 150 miles

(A) 120 miles
(C) 200 miles (D) 230 miles

Discharge seen in mild bacterial infection
and chiamydia infection

(A) Mucopurulent  (B) Watery
{C)'Mucin (D) Purulent

A Is the smallest possible unit of
data a computer can recognize or use.

(A) Nibble (B) Byte

(C).Bt (D) Word

Which of the following is not designated as

an Eco-Sensitive Zone by the Environment
Ministry of India 7

(A) Kalesar Wildlife Sanctuary

(B) Nahar Wildlife Sanctuary

(C) Khaparwas Wildlife Sanctuary
(D) Khol Hi-Raitan Wildife Sanctuary

is defined as the change in

direction of light when it passes from 'y
tmnspar&rﬂnmdnmhunﬂmﬂmw‘ e ;
opbical density. X
(A) Reflection (B) Refraction

(C) Retraction (D) Resolution

The NH 2 passes through which of th
fanmmngdum:tunﬂ'llrrlu?

(A) Gurugram (B) Panchkula

(C) Mewat ) F-w
Which afmefﬂmmm&- not fio
through Haryana ? Ly R - -
(A) Ghaggar IB]@@; Tad
(C) Mahanadi {Dj Dul"m
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If 2¢3 =13 and 3+4 = 5, then the value
of 5+12 Is

() V17 (B) V29

(C) 12 (D) 13

provide measurements of the
curvature of the cornea.

(A). Keratometers

(B) Focimeters

(C) Retinoscopy

(D) All of the above

In the reaction represented by

r:""' __';,;Ih"_" z_z?l"-‘_ﬁiz-iﬂhd
the decays in the sequence are
(A) @, B,y (B) B. 7. @

C) v, o, B (D) o, v

—_are coloured lithographic plates
in which bold numbers are represented in
dots of various colours,

(A) The lantern test

(B) Isochromatic chart

(C) Holmgren's wools

(D) Nagel's anomaloscope

The is a pigmented, vascularized,

loose connective tissue layer containing |
melanocytes, fibroblasts, macrophages, |

lymphocytes and mast cells.
(A) Suprachoroid lamina
(B)-Choroidal stroma

(C) Choriocapillaris

(D) Bruch's membrane
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A _ is defined as a portion of a
refracting medium bordered by two plane
surfaces which are inclined at a finite
angle

(A) Mirror
(B) Prism
(C) Lens

(D) None of the above

Which of the following is true ?
(A) V2+:6=T @) 2+ B

(C) V2+5<dT (D) V2457

In of light enters an eye, the pupil
of this eye contracts.

(A) Direct light reflex

(B) Indirect light reflex

(C) Near reflex

(D)-Psychosensory reflex »
Which Report is considered as "Magna
Carta of English Education in India"?
(A) Hunter Commission Report !
(8) Mecaulay's Repot

(C) Sir Charles Wood's Despatch

Ry

(D) Kothari Education Rep r

Zinc blende is
(A) ZnCO,
(C) ZnS

>

(A) Sonipat

Kurukshetra

I.HI f
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55. In 1999, which Barrage was replaced by | 55, wfamn i 1999 1 firm ATt ) 9e eferfiaa
the Hathnikund Barrage in Haryana 2 Ama A @ forp ?
(A) Ottu Barrage (A) 31z :
(B) Tajewala Barrage (8) H'liﬂlﬂ;:ﬂ’l ’ bl Ij.
(C) Anagpur Dam (€) ST eyt Be (4o E0 2
(D) None of the above (O) IR awfa LT T,

56. Mauryan Stupa and relics were found in | 58. #m*w* Rt et bt T
which place in Haryana 7 Hﬂﬂqﬂﬂﬂ? é
(A) Fatehabad (B) Kamal (A) wAEEATZ ,

(C) Agroha (D) Shanila

57. mampmermmanlrrtmm,a 57.
s designed to restrict Internet access,
prmanly to keep unwanted gQuests out.
(A} Network Address Translator
(B) Firewall
(C) Proxy server
(D) File server

8. Night blindness is usually the earliest 58.
manifestation of ncy.
(A) Vitamin A (B) Vitamin B
(C) Vitamin D (D) Vitamin C

59. Buming discomfort and gnmnﬂsmdallr 59, 3
in the evening, edges of the lids feel hot
and dry, difficulty in keeping the lids open,

(A). Simple Chronic Conjunctivitis

(B) Angular Conjunctivitis

(C) Follicular Conjunctivitis

(D) Trachema o

60. The inflammation of the pars plana part of
the ciliary bod
(A) Intermediate uveitis
8 e
ndoph i
(D) Panophthalmitis { ol

61. Two IdanﬂcafmaﬂadmihPmQW '
Equafaﬂmumnfﬁnmhﬂumm 5

(B) Q increases while in P decreases
(C) Both Pand Q increases

(D) Both P and Q decreases

. .
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The National Horse Research Institute in
Haryana is located in
(A) Hisar

B) G
(C) Faridabad il

(D) Jind

The middie vascular layer of eye consists of
(A) Iris

(B) Ciliary body

(C) Choroid

(D) All of the above

In Protanopes, there is absence of
sensation,

(A) Blue
(C) Green

(B) Red
(D) Brown

Which King was defeated by Babar in 1526
in the first battle of Panipat 7

(A) Nadir Shah

(B) Ibrahim Lodhi

(C) Daulat Khan Lodhi

(D) Ahmad Shah

The Union Executive consisls of ‘
(A) The President, the Vice-President lnd

that}eunulofmrumwiﬂlmm '

Minister as the head

(B) The President, the
ureCoumuufmml!d
Ministers of the States

(C) The President, the Vice-President

Prime Minister and the

(D) None of the m::r *:r,q

How many wildlife Sa
Haryanaalmg ?E' .
(A) 5 I'.-r
(C) 12 ) 8

Kushena Pmﬂ
of this Greco- Ror \-f
(A) Mathura Art .nw -
(B) Gandhara Art

(C) Vesara Style of Ar
(D) Nﬂﬂrfl%‘h -1&":1
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generally long in terms of axial
length, may predispose to needle stick
injunes dunng anaesthesia.

(A) Myopic eyes

(B) Hypermetropic eyes

(C) Aphakia

(D) Astigmatism

Organisms lodged in some other organ
of the body reach the eye through the
bloodstream

(A) Exogenous infection

(B) Endogenous infection

(C)-Allergic inflammation

(D) Secondary infection

allows the measurement of the angle
of deviation, which provides quantification
and documentation of the squint.
(A)-Alternate cover test

(B) Prism reflection test

(C) Prism cover test

(0) Hirschberg's test

lonisation energy of oxygen is less than

that of ; r'r,...‘.

(A) Carbon (B) Silicon
(C) Sulphur (D) Nitrogen

Who was the first Muslim ruler of the Slave | =

dynasty in Haryana ? ,
(A) IMtutmish -
(B) Quib-ud-din Aibak

(C) Balban

(D) Razia Sultana Y

The intraccular pressure in nlnummu B
(A) 1=5mm Hg e
(B) 6~ 10 mm Hg
(C) 10~ 15 mm Hg
(D) Above 25 mm Hg

Which mineral tafumdh Gl
of Haryana 7 " i AN
(A) Graphite
(C) Copper

15/2019 (8)
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IS Seen in cases of raised
intracranial tension (brain lumour) and
malignant hypertension

(A) Optic atrophy

(B) Optic neuritis

(C) Papillitis

(D} Papilioedema

The Chill“min and m ﬂﬁ“
Union Public Service Commi s
appointed by

{A) President of India

(B) Prime Minister

(C) Union Cabinet

(D) Union Parfiament

x=1

!fz--ﬁ-bﬂ-u@.ﬂ'mThmh
(A) J2 ®) i{i
(Chaa (O) 243

Which iver originates from Mewat Hile neac |

Jigarh of Haryana ?
(A) Dohan

(C) Tangn

16/2019 (8)
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Direction : Q. No. 85and 86:

In each of the following questions, out ofth
altematives, choose the one '
meaning to the underfined wnrl:lﬁ? -

BS.

86.

English Language

In each of the following questions, out of the
given group of words, mnnu lha w
ane.

{A) Depandent
(B) Detrimental
(C) Describe
(D} Deluge .

i
L]
i
1

e

In each of the following qmﬂam-‘ﬁ g
idiomatic expression/a proverb. hi-s &

given, followed by some

the one which best expresses the r '; i
nfmegwenidimn!prwerb ]

To save one’s face.
(A) .To hide oneself 0
(B) To oppose = AU
(C) To evade disgrace ‘
(D) To say plainly

for

No one will invite her to a lna
garrulous.

(A) repeats gossip _' ' '3"‘ ey
(B) talks a lot VP
(C) giggles all the time, i3

(D) laughsalot

Dnﬂ}uﬂtageofthlswqidﬁ ! fe |
is transitory as well as traumatic. |
(A) transitional

(B) dull
(C) fleeting
(D), painful






